(]

12610 - FCIAT FCAC *fesM A=A

TR AR ICE >t AC AN 8 AFC AN 2 SO A Ff B0t IRT?
S M2 G TEA I? OMCA RIEAHCAS FCIA BTGIT ART? ST TSI & AT S_IF P AT FaroC
07 I O IO RS WIRe? Sl F SR |

TR SR I,

*ffgall T AN 8 AFC >INt TN 27 TOAR AT BT IR | SMCE TSI W SIBIL* IR Sgoipist
I AT IS AP 7AC IR ACRAB TN AT FHOC T ARG 74| AN SHeARL] 6T HTeh
JETCRGH, “IC RS ¥l ST '8 IRC *Ifgall =TT = TSAR ACRAN BT AT 1™ [SAIC &I Wiem (004),
SAC BIFC TG (SYas), T TR | AW FFTC (2098) TMPIGRAC 2fR’ IeCREA]

RS SIGHEnrel, SNWCE 741 Y2, O RGN 8 OfF ARIAE ToF AR q2T© IGT© 20T |


https://archive-1446.islamqa.info/bn/answers/12610/%E0%A6%B0%E0%A6%AF-%E0%A6%B0%E0%A6%96-%E0%A6%B6%E0%A6%99%E0%A6%97-%E0%A6%B2%E0%A6%97%E0%A6%A8

